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int a ,dp :
int dfs(int pos,int pre,bool eq,bool zero
Ipos ;
leq&&~dp | pos| [ pre dp/pos!|prel;
int ans=0,v=eq?alpos|:9;
_rep(i,0,v

lzero&&abs (i-pre)<

’

ans+=dfs(pos-1,1i,eq&&i==a|pos|,zero&&i==

leq&&!zero)dp/pos! [prel=ans;

’
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ans;

int solve(int n

int len=0;
mem(dp,-1);
n
al++len|=n%10;
n/=10;

dfs(len, 0, true, true) ;
int main

int a=read int(),b=read int();
printf("%d",solve(b)-solvela- ;

?

goo
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oo

OooO $hris00000 $0\simO$S O 0O ODOONO
oo

O000 $0\sim9$ 0 0000000000000 $s$000000000O000O0O

const int MAXL=15;
LL a[MAXL],dp/MAXL]| MAXL;

int goal;
LL dfs(int pos,int pre,bool eq,bool zero
I'pos pre;
leq&&~dppos | pre dp/pos!|prel;
int v=eq?alpos|:9;LL ans=0;
_rep(i,0,v

zero&&i==
ans+=dfs(pos-1,pre,eq&&i==alpos|,true);

ans+=dfs(pos-1,pre+(i==goal),eq&&i==alpos|, false);

leq&&!zero)dp/pos ! [prel=ans;
ans;
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LL solve(LL n
int len=0;
mem(dp,-1);
n
al++len|=n%10;
n/=10;

dfs(len, 0, true, true) ;
int main
LL a=read LL(),b=read LL();
_rep(i,o0,

goal=i;
printf("%lld ",solve(b)-solvela- ;

goo

00 pal27

go

00000 %$a,b$f00 $labl$0000O0O0O0O0OOOODODODODODOODO

go

oL U

0000000000000 0000 $\text{Mod}$J0 O $\text{dp}$ 000 T00ODOOOOODOODO
0000 $\text{Mod}$ 00O DO

O00D0000000 $18\ast(18\ast9)"2$ 0000 00O O $18\ast(18\ast 9)"3\approx 8\times
1077$0

0000000000000 000D00D000000 $text{dp}$sdonoooong

const int MAXL=20,MAXV= ;
LL a[MAXL],dp[MAXL] MAXV][MAXV];
int Mod;
LL dfs(int pos,int s,int mod,bool eq
s>Mod| | s+pos*9<Mod ;
Ipos mod==0;
leq&&~dp/pos! s mod dpipos![s]| mod];

CVBB ACM Team - https://wiki.cvbbacm.com/


https://www.luogu.com.cn/problem/P4127
https://www.luogu.com.cn/problem/P4127

Last

update: 2020-2021:teams:legal_string:jxm2001:
2021/01/28 oooo_

20:37

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E5%8A%A8%E6%80%81%EB8%A7%84%E5%88%92_1

int v=eq?alpos|:9;LL ans=0;
_rep(i,0,v
ans+=dfs(pos-1,s+i, (mod*10+i)%Mod, eq&&i==alpos]);
leq)dp/pos| s/ mod]|=ans;
ans;

LL solve(LL n
int len=0;
n

al++len|=n%10;
n/=10;

LL ans=0;

_rep(i,1,len*
mem(dp,-1);
Mod=1i;
ans+=dfs(len,0,0,true);

ans;
int main

LL a=read LL(),b=read LL();
printf("sLld",solve(b)-solvela- ;

oo
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const int MAXL=1e3+5,Mod=1e9+7;
int alMAXL]|,dp! MAXL ;
int dfs(int pos,int prel,int pre2,bool eq
Ipos ;
leq&&~dppos| [prel] pre2 dp/pos!|[prell pre2l;
int ans=0,v=eq?alpos|:9;
_rep(i,0,v
i==prel| |i==pre2 ;
ans=(ans+dfs(pos-1, (i==0&&prel==10)710:1,prel,eq&&i==alpos|) )%Mod;

leq)dp/pos| prel]|pre2i=ans;
ans;

int solver(char *s
int len=strlen(s);
_rep(i,1,len
alil=s|[len-i/-'0";
mem(dp,-1);
dfs(len,10,10,true);

char b[MAXL],c[MAXL];
int main

scanf("%s %s",b,c);
LL ans=solver(c)-solver(b);
int len b=strlen(b),len c=strlen(c),flag=1;
_for(i,0,len b
i+l<len b&&b[il==bli+
flag=0;

’

i+2<len b&&b[1i|==bli+

flag=0;
ans+=flag;
LL tot b=0,tot c=0;
_for(i,0,len b)tot b=(tot b*10+b[i!-'0")%Mod;
for(i,0,len c)tot c=(tot c*10+c[il-'0")%Mod;

enter tot c-tot b+l-ans)%Mod+Mod) %Mod) ;

.
’

ggd

Oo0oooo@oo)HO
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go
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O0%eq2$ 00 $A$ 00000 $B$ 00000

0000000 $BA$0 $pos$ 000D 0OOODOODOO $0(18L°2)$0 000000000000
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gooboodod

0000000000 $eq$ 000000 0DOOODOODOOO $eq=true$ 000 000ODOODO
$eq=trues OO OO
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000000 $eql=trueeq2=false$ 00O OO OD0OODOODOO0O $eql=false,eq2=trues 000 O
ao

const int MAXL= , MAXV= Mod:1e9+ g
int al[MAXL],dp[MAXL | [MAXV<<
int dfs(int pos,int d,bool eql, bool eq2
d>=MAXV+pos* ;
I'pos g
~dp/pos|id]leql] eq2
dplpos|idi/leql] eq2];
int ans=0,vl=eql?alpos|:9,v2;
_rep(i,0,vl
v2=eq2?1i:9;
_rep(j,0,v2
ans=(ans+dfs(pos-1,d+i-j,eql&&i==v1,eq2&&j==v2) )%Mod;

dp/pos!|(d]/eql!eqg2]=ans;

int solve(char *s
int len=strlen(s);
mem(dp,-1);
_rep(i,1,len
alil=s|[len-i/-'0";
dfs(len,MAXV, true, true) ;

char buf[MAXL];
int main
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scanf("%s",buf);
enter(solve(buf));

.
1

oo

Comet OJ-Contest #12 DO

0o

00O $0\le x\le A,0\le y\le B,x\oplus y=n,|x-y\lem$ O $(x,y)$ O OO
0o

O0D00000O0 $\text{dp}$C $|x-y|$ O $\text{dp}$ OO OO ODODODOOOOODOODOOODOOO

00000000 $x=0,y=n$000 $n$ 00 $is 000 $1$0 0 $1300 $x$00 $x-y$ O O
$27°{i+1}1$J0 00000 $x-y$ O $\text{dp}$s 0O OO OO

$x-yNlem$ OO O OO $n-mlled\len+m$J0 0000 $dlen+m$ 0000 $dlen-m-1$ 00000
D000 $n-mle0$ 000000000 $\text{dp}$ 00000 $|x-yNlen$ 00O 000000 $0$00

00000 $f(pos,eql,eq2,eq3)$f0 0 $eqls 00 $x$ 00000 $A$ 000 0O0%eq2$ 00 $y$ O
0000 $B$00000

$eq3$ 00 $d$ 0000 O00DODODOOO0ODDOOOODOOOOODODOO $x\oplusy=n$j000O00O
g

const int MAXL=64;
int A[MAXL],B[MAXL|,N[MAXL!,M[MAXL;
LL dp!MAXL :
void cal(LL x,int *X
_for(i,1,MAXL
X[1i1=0;
int pos=0;
X
X[ ++pos | =x&1;
X>>=]1"

14

LL dfs(int pos,bool eql,bool eq2,bool eqg3
I'pos :
~dp/pos|ieqlleq2!eq3 dplpos!eql]eq2l/eq3];
LL ans=0;
_for(i,o0,
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int x=1i,y=i"N|[pos]|;
eql&&x>Alpos| ) || (eq2&&y>B|pos|) || (eq3&&( (x>y)>M|pos+

’

ans+=dfs(pos-1,eql&&x==Apos|,eq2&&y==B|pos|,eq3&&(x>y)==M|pos+ ;
dplpos|ieql] eq2![eq3]=ans;
LL solve(LL m
mem(dp,-1);
cal(m,M);
dfs ,true, true, true);

int main

int T=read int();

T--
LL a=read LL(),b=read LL(),n=read LL(),m=read LL();
cal(a,A);
cal(b,B);
cal(n,N);
enter(solve(n+m)-((n-m>0)?solve(n-m-1): ;

goo

CF908G

go

00 $S(x)$000 $x$0000000000000000 $5(3190)=0139,5(4312)=1234%[]
00 $1\le X\le 10~ {700}$0C

$$ \sum_{i=1}"X5(i) $$

oo

DO0000DO000 $f(ij))$ 00 $1\simX$ OO0 $S(x)$00 $j$ 000 $i$ 0 $x$ 00

O O0$n=\text{len}(X)$0 O

$$ ans=\sum {i=1}"9i\sum {j=1}"nf(i,j)10"{j-1}=\sum {i=1}"{9}i\sum_{j=1}"n (g(i,j)-
g(i+1,j)107{j-1} $%

00 $g(i,j)=\sum_{k=i}"9f(i,k)$ OO $1\simX$ DO O $S(x)$ 00 $$ 00000 $is0 $x$0000
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0000 $9(i,)$ 000 $1\simX$ OO0 $x$ 0000 $$00000 $i$0$x$ 000000
$$ g(i.j)=\sum_{k=j}"n \text{dp}(i,k) $$

00 $\text{dp}(i,j)$ 0O $1\simX$ OO0 $x$ 00 $$ 00000 $i$0 $x$ 0000000000
00 $\text{DP}$ 000 OO

00000 $0(100n"2)$0

const int MAXL= ,Mod=1e9+7;

char s[MAXL];
int a[MAXL],dp MAXL | | MAXL ,suf MAXL | ;
int dfs(int v,int pos,int cnt,bool eq
I'pos||cnt< cnt==0;
~dplv![pos]|icnt]leq dplv]ipos!lcnt!leq!;

int ans=0,mv=eq?alpos|:9;

_rep(i,0,mv

ans=(ans+dfs(v,pos-1,cnt-(i>=v),eq&&(alpos/==1i)))%Mod;
dplv![pos![cnt]| eq/=ans;

int main

mem(dp,-1);
scanf("%s",s+1);
int len=strlen(s+1);
int i=1,j=len;i<=len;i++,j--)alil=s[jl-'0";

int ans=0;
_for(i, 1, int j=len;j>=1;j--
suf{il[jl=(suf[i][j+1/+dfs(i,len,j,true))%Mod;
_for(i,1,

int p=1;

_rep(j,1,len
ans=(ans+1LL*i*p%sMod* (suf|i| j!-suf[i+1][j ! +Mod)%Mod)%Mod;
p=10LL*p%Mod;

enter(ans);
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